□ No□ N/A

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

SSIP Overview

Page Last Modified: 07/25/2016		

Status Date: 07/26/2016 11:04 AM

1. Please enter the name of the person to contact regarding this submission. Eric A. Rizzo Please enter their phone number for follow up questions. 1b. Please enter their e-mail address for follow up contact. erizzo@ramapocentral.net 2. Please indicate below whether this is the first submission, a new or supplemental submission or an amended submission of a Smart Schools Investment Plan. First submission 3. All New York State public school districts are required to complete and submit a District Instructional Technology Plan survey to the New York State Education Department in compliance with Section 753 of the Education Law and per Part 100.12 of the Commissioner's Regulations. Districts that include investments in high-speed broadband or wireless connectivity and/or learning technology equipment or facilities as part of their Smart Schools Investment Plan must have a submitted and approved Instructional Technology Plan survey on file with the New York State **Education Department.** By checking this box, you certify that the school district has an approved District Instructional Technology Plan survey on file with the New York State Education Department. ☐ District Educational Technology Plan Submitted to SED and Approved Pursuant to the requirements of the Smart Schools Bond Act, the planning process must include consultation with 4. parents, teachers, students, community members, other stakeholders and any nonpublic schools located in the district. By checking the boxes below, you are certifying that you have engaged with those required stakeholders. Each box must be checked prior to submitting your Smart Schools Investment Plan. Parents Teachers ☑ Community members If your district contains non-public schools, have you provided a timely opportunity for consultation with these stakeholders? 

 Certify that the following required steps have taken place by checking the boxes below: Each box must be checked prior to submitting your Smart Schools Investment Plan.

☑ The district developed and the school board approved a preliminary Smart Schools Investment Plan.

- ☐ The preliminary plan was posted on the district website for at least 30 days. The district included an address to which any written comments on the plan should be sent.
- ☑ The school board conducted a hearing that enabled stakeholders to respond to the preliminary plan. This hearing may have occured as part of a normal Board meeting, but adequate notice of the event must have been provided through local media and the district website for at least two weeks prior to the meeting.
- ☑ The district prepared a final plan for school board approval and such plan has been approved by the school board.
- oxdot The final proposed plan that has been submitted has been posted on the district's website.

07/26/2016 03:15 PM Page 1 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

SSIP Overview

Page Last Modified: 07/25/2016

5a. Please upload the proposed Smart Schools Investment Plan (SSIP) that was posted on the district's website. Note that this should be different than your recently submitted Educational Technology Survey. The Final SSIP, as approved by the School Board, should also be posted on the website and remain there during the course of the projects contained therein.

Status Date: 07/26/2016 11:04 AM

Ramapo Central School District SSBA Investment Plan.pdf

6. Please enter an estimate of the total number of students and staff that will benefit from this Smart Schools Investment Plan based on the cumulative projects submitted to date.

5,000

- 7. An LEA/School District may partner with one or more other LEA/School Districts to form a consortium to pool Smart Schools Bond Act funds for a project that meets all other Smart School Bond Act requirements. Each school district participating in the consortium will need to file an approved Smart Schools Investment Plan for the project and submit a signed Memorandum of Understanding that sets forth the details of the consortium including the roles of each respective district.
  - ☐ The district plans to participate in a consortium to partner with other school district(s) to implement a Smart Schools project.
- 8. Please enter the name and 6-digit SED Code for each LEA/School District participating in the Consortium.

Partner LEA/District	SED BEDS Code
(No Response)	(No Response)

9. Please upload a signed Memorandum of Understanding with all of the participating Consortium partners.

(No Response)

10. Your district's Smart Schools Bond Act Allocation is:

\$1,646,123

11. Enter the budget sub-allocations by category that you are submitting for approval at this time. If you are not budgeting SSBA funds for a category, please enter 0 (zero.) If the value entered is \$0, you will not be required to complete that survey question.

	Sub- Allocations
School Connectivity	620,850
Connectivity Projects for Communities	0
Classroom Technology	0
Pre-Kindergarten Classrooms	0
Replace Transportable Classrooms	0
High-Tech Security Features	250,519
Totals:	871,369.00

07/26/2016 03:15 PM Page 2 of 17

## Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

School Connectivity

Page Last Modified: 07/22/2016

1. In order for students and faculty to receive the maximum benefit from the technology made available under the Smart Schools Bond Act, their school buildings must possess sufficient connectivity infrastructure to ensure that devices can be used during the school day. Smart Schools Investment Plans must demonstrate that:

Status Date: 07/26/2016 11:04 AM

- sufficient infrastructure that meets the Federal Communications Commission's 100 Mbps per 1,000 students standard currently exists in the buildings where new devices will be deployed, or
- is a planned use of a portion of Smart Schools Bond Act funds, or
- is under development through another funding source.

Smart Schools Bond Act funds used for technology infrastructure or classroom technology investments must increase the number of school buildings that meet or exceed the minimum speed standard of 100 Mbps per 1,000 students and staff within 12 months. This standard may be met on either a contracted 24/7 firm service or a "burstable" capability. If the standard is met under the burstable criteria, it must be:

- 1. Specifically codified in a service contract with a provider, and
- 2. Guaranteed to be available to all students and devices as needed, particularly during periods of high demand, such as computer-based testing (CBT) periods.

Please describe how your district already meets or is planning to meet this standard within 12 months of plan submission.

The District has 1 gigabyte of connectivity provided by Southern Westchester BOCES.

- 1a. If a district believes that it will be impossible to meet this standard within 12 months, it may apply for a waiver of this requirement, as described on the Smart Schools website. The waiver must be filed and approved by SED prior to submitting this survey.
  - □ By checking this box, you are certifying that the school district has an approved waiver of this requirement on file with the New York State Education Department.
- 2. Connectivity Speed Calculator (Required)

	Number of Students	Multiply by 100 Kbps	Divide by 1000 to Convert to Required Speed in Mb	Current Speed in Mb	Speed to be Attained Within	Expected Date When Required Speed Will be Met
Calculated Speed	4,500	450,000	450	1,000	(No Response)	Already met

3. Describe how you intend to use Smart Schools Bond Act funds for high-speed broadband and/or wireless connectivity projects in school buildings.

Using district funds and the eRate discount, Ramapo CSD will upgrade and optimize network Infrastructure connectivity at all Ramapo CSD schools to 10 Gigabit switches, 10 Gigabit Cores, and install 460 Wireless Access Points in all classrooms and instructional areas. SSBA funds will be utilized to upgrade cabling to wireless access points in classrooms to increase bandwidth and connectivity, and cabling/switching in server closets will be upgraded to support the increased network traffic using SSBA funds.

07/26/2016 03:15 PM Page 3 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

School Connectivity

Page Last Modified: 07/22/2016

4. Describe the linkage between the district's District Instructional Technology Plan and the proposed projects. (There should be a link between your response to this question and your response to Question 1 in Part E. Curriculum and Instruction "What are the district's plans to use digital connectivity and technology to improve teaching and learning?)

#### Technology Goals:

The goals outlined below are directed related to technology and technology integration. Where applicable, technology will support District and building goals determined in the District Strategic Plan, the Comprehensive School Improvement Plans (CSIPs), and other established goals.

#### Technology Integration

Empower the effective integration of technology that enables students to be productive, self-directed, and creative problem solvers that are prepared for the challenges they will face in tomorrow's world.

Status Date: 07/26/2016 11:04 AM

#### Professional Development

Provide educators with effective, on-going professional development to integrate technology that supports curriculum and curricular goals and improves student achievement.

#### Technology Equipment and Infrastructure

Support, maintain, and enhance a technology infrastructure that supports the District's learning and work environments, and maintain a technology inventory of all District assets.

#### Technology Services

Strive to balance safety and security while optimizing opportunities for learning, access to information, and management of technology resources.

#### Community Connections

Continue the effective use of digital environments and social media to communicate and collaborate with the community.

#### **Technology Integration Goals:**

- · Implement content/curriculum-driven technology integration in the classroom.
- · Implement technology for instructional use that supports the teaching and learning process and prepares students to succeed in a global setting.
- Support and make connections with the ISTE NETS for students.
- Identify, encourage, and/or enhance the use of 21st century tools and skills across K-12 content areas.
- 5. If the district wishes to have students and staff access the Internet from wireless devices within the school building, or in close proximity to it, it must first ensure that it has a robust Wi-Fi network in place that has sufficient bandwidth to meet user demand.

Please describe how you have quantified this demand and how you plan to meet this demand.

With District funds and the eRate discount, Ramapo CSD will be upgrading our wireless at all schools including classrooms and instructional areas. Numbers of access points per building are as follows:

- Suffern High School-116 Access Points
- Suffern Middle School-100 Access Points
- Cherry Lane Elementary School-53 Access Points
- Montebello Elementary School-42 Access Points
- Richard P Connor Elementary School-47 Access Points
- Sloatsburg Elementary School-34 Access Points
- · Viola Elementary School-50 Access Points

Total Access Points:460

The District has 1 gigabyte of connectivity provided by Southern Westchester BOCES.

SSBA Fund will be utilized to replace the existing cabling to the access points with Cat6A cabling

6. As indicated on Page 5 of the guidance, the Office of Facilities Planning will have to conduct a preliminary review of all capital projects, including connectivity projects.

Project Number

50-04-01-06-7-999-BA1

07/26/2016 03:15 PM Page 4 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

**School Connectivity** 

Page Last Modified: 07/22/2016

7. Certain high-tech security and connectivity infrastructure projects may be eligible for an expedited review process as determined by the Office of Facilities Planning.

Status Date: 07/26/2016 11:04 AM

Was y	your	project	deemed	eligible fo	or streamlined	review?
-------	------	---------	--------	-------------	----------------	---------

Yes

- 7a. Districts that choose the Streamlined Review Process will be required to certify that they have reviewed all installations with their licensed architect or engineer of record and provide that person's name and license number. The licensed professional must review the products and proposed method of installation prior to implementation and review the work during and after completion in order to affirm that the work was codecompliant, if requested.
  - ☑ I certify that I have reviewed all installations with a licensed architect or engineer of record.
- 8. Include the name and license number of the architect or engineer of record.

Name	License Number
Christopher L. Colby	33581

9. If you are submitting an allocation for School Connectivity complete this table.
Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you entered in the SSIP Overview overall budget.

	Sub- Allocation
Network/Access Costs	0
Outside Plant Costs	0
School Internal Connections and Components	620,850
Professional Services	0
Testing	0
Other Upfront Costs	0
Other Costs	0
Totals:	620,850.00

10. Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

07/26/2016 03:15 PM Page 5 of 17

# Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Status Date: 07/26/2016 11:04 AM

**School Connectivity** 

Page Last Modified: 07/22/2016

ect the allowable expenditure e. peat to add another item under th type.	Item to be purchased	Quantity	Cost per Item	Total Cost
Connections/Components	4X22 10GAIN CAT 6A WH 1KFT RL	111	788	87,468
Connections/Components	4X23 NEXTGAIN C6+P RD 1KFT RB	111	474	52,614
Connections/Components	CAT6 KEYSTONE JACK	441	5	2,205
Connections/Components	PANELJACK,CAT6,CLARITY,T568A/B	882	7	6,174
Connections/Components	CORD,CAT6,MOD 8,1FT,BLUE	50	6	300
Connections/Components	CORD,CAT6,MOD 8,2FT,YELLOW	50	6	300
Connections/Components	CORD 10G,MOD8,3FT,YELLOW	882	11	9,702
Connections/Components	BLANK,TRACJACK,QTY 10	45	3	135
Connections/Components	24 PORT 10G TJ PANEL KIT	26	64	1,664
Connections/Components	24 PORT,PJ,PANEL KIT,ANGLED	26	51	1,326
Connections/Components	TRACJACK SMB 2PORT,DESG	216	3	648
Connections/Components	RUNWAY - 12 W	25	73	1,825
Connections/Components	BASE ANGLE	48	43	2,064
Connections/Components	MM10,RACK,16.25 CHANNEL,7FT	8	870	6,960
Connections/Components	MM 10 VERTICAL CABLE MGMT CAGE	22	615	13,530
Connections/Components	MM 6 HORIZONTAL CABLE MNGMT PNL	25	58	1,450
Connections/Components	MM6,RACK,SERVER,7FT	2	1,026	2,052
Connections/Components	MM10 VERTICAL CABLE MGMT CAGE	2	689	1,378
Connections/Components	4 INCH J-PRO HAMMER ON BEAM	7	523	3,661
Connections/Components	J-PRO 2 INCH J-HOOK/WALL MOUN	10	235	2,350
Connections/Components	J-PRO HAMMER ON BEAM CLAM	9	346	3,114
Connections/Components	PANEL,6/LC/DX/CER/BLUE/SM	34	77	2,618
Connections/Components	RACK MNT,1U,FIBER PATCH PNL	20	241	4,820
Connections/Components	RACK MNT,4U,FIBER PATCH PNL	4	333	1,332
Connections/Components	KIT , CONNECTOR,LC,9UM,1PC	408	24	9,792
Connections/Components	Distribution 12 Fiber OFCP EWP-SMF	6	1,413	8,478
Connections/Components	CUBE-iT PLUS Wall Cabinet; 19 Inch W x 36 Inch H x 24 Inch D; White; 18 RMU; Top Panel - Solid; Rail Type - Tapped 12-24; Sides - Yes; Front Door - Solid Metal Door; Rear Door - Wall	5	612	3,060

07/26/2016 03:15 PM Page 6 of 17

# Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

**School Connectivity** 

Page Last Modified: 07/22/2016

	Mount Panel; Assembled, Non- reusable Carton			
Connections/Components	BASE AND COVER-FOG WHITE	950	2	1,900
Connections/Components	Installation of all equipment in server closets and replacement of older cables to access points	3,469	133	461,377
Connections/Components	2nd shift premium-all work will be done during the 3pm to 11pm shift	3,469	23	79,787
Connections/Components	ENTRANCE END FITTING-FOG WHITE	190	12	2,280
Connections/Components	STL EXTRA DEEP BOX 2400 IVORY	190	17	3,230
Connections/Components	Best and Final Pricing-Discount from Vendor	(No Response)	(No Response)	-158,744

Status Date: 07/26/2016 11:04 AM

07/26/2016 03:15 PM Page 7 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Community Connectivity (Broadband and Wireless)

Page Last Modified: 07/12/2016

1.

	connectivity projects in the community.
	(No Response)
2.	Please describe how the proposed project(s) will promote student achievement and increase student and/or staff access to the Internet in a manner that enhances student learning and/or instruction outside of the school day and/or school building.
	(No Pagnanga)

Describe how you intend to use Smart Schools Bond Act funds for high-speed broadband and/or wireless

Status Date: 07/26/2016 11:04 AM

- 3. Community connectivity projects must comply with all the necessary local building codes and regulations (building and related permits are not required prior to plan submission).
  - ☐ I certify that we will comply with all the necessary local building codes and regulations.
- 4. Please describe the physical location of the proposed investment.

(No Response)

5. Please provide the initial list of partners participating in the Community Connectivity Broadband Project, along with their Federal Tax Identification (Employer Identification) number.

Project Partners	Federal ID #
(No Response)	(No Response)

6. If you are submitting an allocation for Community Connectivity, complete this table.

Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you entered in the SSIP Overview overall budget.

	Sub-Allocation
Network/Access Costs	(No Response)
Outside Plant Costs	(No Response)
Tower Costs	(No Response)
Customer Premises Equipment	(No Response)
Professional Services	(No Response)
Testing	(No Response)
Other Upfront Costs	(No Response)
Other Costs	(No Response)
Totals:	

7. Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

Select the allowable expenditure	Item to be purchased	Quantity	Cost per Item	Total Cost
type.				
Repeat to add another item under				
each type.				
(No Response)	(No Response)	(No Response)	(No Response)	(No Response)

07/26/2016 03:15 PM Page 8 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Classroom Learning Technology

Page Last Modified: 07/12/2016

In order for students and faculty to receive the maximum benefit from the technology made available under the Smart Schools Bond Act, their school buildings must possess sufficient connectivity infrastructure to ensure that devices can be used during the school day. Smart Schools Investment Plans must demonstrate that sufficient infrastructure that meets the Federal Communications Commission's 100 Mbps per 1,000 students standard currently exists in the buildings where new devices will be deployed, or is a planned use of a portion of Smart Schools Bond Act funds, or is under development through another funding source.
Smart Schools Bond Act funds used for technology infrastructure or classroom technology investments must

Status Date: 07/26/2016 11:04 AM

Smart Schools Bond Act funds used for technology infrastructure or classroom technology investments must increase the number of school buildings that meet or exceed the minimum speed standard of 100 Mbps per 1,000 students and staff within 12 months. This standard may be met on either a contracted 24/7 firm service or a "burstable" capability. If the standard is met under the burstable criteria, it must be:

- 1. Specifically codified in a service contract with a provider, and
- 2. Guaranteed to be available to all students and devices as needed, particularly during periods of high demand, such as computer-based testing (CBT) periods.

Please describe how your district already meets or is planning to meet this standard within 12 months of plan submission.

(No Response)

- 1a. If a district believes that it will be impossible to meet this standard within 12 months, it may apply for a waiver of this requirement, as described on the Smart Schools website. The waiver must be filed and approved by SED prior to submitting this survey.
  - □ By checking this box, you are certifying that the school district has an approved waiver of this requirement on file with the New York State Education Department.
- 2. Connectivity Speed Calculator (Required)

	Number of Students	Multiply by 100 Kbps	Divide by 1000 to Convert to Required Speed in Mb	Current Speed in Mb	Expected Speed to be Attained Within 12 Months	Expected Date When Required Speed Will be Met
Calculated Speed	(No Response)	(No Response)	(No Response)	(No Response)	(No Response)	(No Response)

 If the district wishes to have students and staff access the Internet from wireless devices within the school building, or in close proximity to it, it must first ensure that it has a robust Wi-Fi network in place that has sufficient bandwidth to meet user demand.

Please describe how you have quantified this demand and how you plan to meet this demand.

(No Response)

4. All New York State public school districts are required to complete and submit an Instructional Technology Plan survey to the New York State Education Department in compliance with Section 753 of the Education Law and per Part 100.12 of the Commissioner's Regulations.

Districts that include educational technology purchases as part of their Smart Schools Investment Plan must have a submitted and approved Instructional Technology Plan survey on file with the New York State Education Department.

□ By checking this box, you are certifying that the school district has an approved Instructional Technology Plan survey on file with the New York State Education Department.

07/26/2016 03:15 PM Page 9 of 17

## Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Classroom Learning Technology

Page Last Modified: 07/12/2016

Describe the devices you intend to purchase and their compatibility with existing or planned platforms or systems.
 Specifically address the adequacy of each facility's electrical, HVAC and other infrastructure necessary to install and support the operation of the planned technology.

Status Date: 07/26/2016 11:04 AM

(No Response)

- 6. Describe how the proposed technology purchases will:
  - > enhance differentiated instruction;
  - > expand student learning inside and outside the classroom;
  - > benefit students with disabilities and English language learners; and
  - > contribute to the reduction of other learning gaps that have been identified within the district.

The expectation is that districts will place a priority on addressing the needs of students who struggle to succeed in a rigorous curriculum. Responses in this section should specifically address this concern and align with the district's Instructional Technology Plan (in particular Question 2 of E. Curriculum and Instruction: "Does the district's instructional technology plan address the needs of students with disabilities to ensure equitable access to instruction, materials and assessments?" and Question 3 of the same section: "Does the district's instructional technology plan address the provision of assistive technology specifically for students with disabilities to ensure access to and participation in the general curriculum?"

(No Response)

7. Where appropriate, describe how the proposed technology purchases will enhance ongoing communication with parents and other stakeholders and help the district facilitate technology-based regional partnerships, including distance learning and other efforts.

(No Response)

8. Describe the district's plan to provide professional development to ensure that administrators, teachers and staff can employ the technology purchased to enhance instruction successfully.

Note: This response should be aligned and expanded upon in accordance with your district's response to Question 1 of F. Professional Development of your Instructional Technology Plan: "Please provide a summary of professional development offered to teachers and staff, for the time period covered by this plan, to support technology to enhance teaching and learning. Please include topics, audience and method of delivery within your summary."

(No Response)

- Districts must contact the SUNY/CUNY teacher preparation program that supplies the largest number of the district's new teachers to request advice on innovative uses and best practices at the intersection of pedagogy and educational technology.
  - □ By checking this box, you certify that you have contacted the SUNY/CUNY teacher preparation program that supplies the largest number of your new teachers to request advice on these issues.
  - 9a. Please enter the name of the SUNY or CUNY Institution that you contacted.

(No Response)

9b. Enter the primary Institution phone number.

(No Response)

07/26/2016 03:15 PM Page 10 of 17

# Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Status Date: 07/26/2016 11:04 AM

Classroom Learning Technology

10.

11.

12.

13.

14.

entered in the SSIP Overview overall budget.

'age L	ast Modified: 07/12/20	)16					
9c.	Enter the name of the contact person with whom you consulted and/or will be collaborating with on innovativuses of technology and best practices.						
	(No Response)						
must a	rict whose Smart Schoo account for nonpublic s	schools in the	district.	s the purchase	of technology	devices and o	ther hardware
Are th  ☐ Ye	ere nonpublic schools	within your sc	hool district?				
The Solution School See:	ublic Classroom Technomart Schools Bond Act ols funds shall be lent, used to loan technology in Schools Bond Act and old enrollment in the base	provides that upon request, on amounts greather the value of see year at the tire	any Classroon to nonpublic so ater than the to uch loan may r ne of enactme	chools in the dotal obtained anot exceed the	istrict. Howeve nd spent on te total of \$250 m	er, no school d chnology purs nultiplied by the	istrict shall be uant to the e nonpublic
		Classroom     Technology     Sub-allocation	2. Public Enrollment (2014-15)	3. Nonpublic Enrollment (2014-15)	4. Sum of Public and Nonpublic Enrollment	5. Total Per Pupil Sub- allocation	6. Total Nonpublic Loan Amount
Calcul Amour	ated Nonpublic Loan nt	(No Response)	(No Response)	(No Response)	(No Response)	(No Response)	(No Response)
a long sustai Smart mainte items.	sure the sustainability of term plan to maintain nability plan shall demo Schools Bond Act fund enance of hotspots, sta Further, such a sustain quipment at the end of	and replace te onstrate a dist ding such as d iff professiona nability plan sh	chnology purc rict's capacity evice maintena I development, nall include a lo	hases supporto to support rectance, technical building main ong-term plan f	ed by Smart So urring costs of support, Inter tenance and th	chools Bond Aduse that are in the that are in the the the the the the the the the the	ct funds. This neligible for ss fees, of incidental
□ By	checking this box, you certify	that the district ha	s a sustainability p	lan as described ab	ove.		
maint	cts must ensure that de ained and supported ap ally accepted accountir	propriately. Di					•
□ Ву	checking this box, you certify	that the district ha	s a distribution and	l inventory manage	ment plan and syst	em in place.	
If you	are submitting an alloc	ation for Class	sroom Learning	g Technology o	complete this to	able.	

Page 11 of 17 07/26/2016 03:15 PM

Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you

# Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Classroom Learning Technology

Page Last Modified: 07/12/2016

	Sub-Allocation
Interactive Whiteboards	(No Response)
Computer Servers	(No Response)
Desktop Computers	(No Response)
Laptop Computers	(No Response)
Tablet Computers	(No Response)
Other Costs	(No Response)
Totals:	

Status Date: 07/26/2016 11:04 AM

#### 15. Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

Select the allowable expenditure	Item to be Purchased	Quantity	Cost per Item	Total Cost
type.				
Repeat to add another item under				
each type.				
(No Response)	(No Response)	(No Response)	(No Response)	(No Response)

07/26/2016 03:15 PM Page 12 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Pre-Kindergarten Classrooms

Page	Last	Modified:	07/12/	2016
ıayc	Lasi	iviouilicu.	01/12/	

1.	Provide information regarding how and where the district is currently serving pre-kindergarten students and justify
	the need for additional space with enrollment projections over 3 years.

Status Date: 07/26/2016 11:04 AM

(No Response)

- 2. Describe the district's plan to construct, enhance or modernize education facilities to accommodate prekindergarten programs. Such plans must include:
  - Specific descriptions of what the district intends to do to each space;
  - An affirmation that pre-kindergarten classrooms will contain a minimum of 900 square feet per classroom;
  - The number of classrooms involved;
  - The approximate construction costs per classroom; and
  - Confirmation that the space is district-owned or has a long-term lease that exceeds the probable useful life of the improvements.

(No Response)

Smart Schools Bond Act funds may only be used for capital construction costs. Describe the type and amount of
additional funds that will be required to support ineligible ongoing costs (e.g. instruction, supplies) associated with
any additional pre-kindergarten classrooms that the district plans to add.

(No Response)

4. All plans and specifications for the erection, repair, enlargement or remodeling of school buildings in any public school district in the State must be reviewed and approved by the Commissioner. Districts that plan capital projects using their Smart Schools Bond Act funds will undergo a Preliminary Review Process by the Office of Facilities Planning.

Project Number	
(No Response)	

If you have made an allocation for Pre-Kindergarten Classrooms, complete this table.
 Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you entered in the SSIP Overview overall budget.

	Sub-Allocation
Construct Pre-K Classrooms	(No Response)
Enhance/Modernize Educational Facilities	(No Response)
Other Costs	(No Response)
Totals:	

Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

Select the allowable expenditure	Item to be purchased	Quantity	Cost per Item	Total Cost
type.				
Repeat to add another item under				
each type.				
(No Response)	(No Response)	(No Response)	(No Response)	(No Response)

07/26/2016 03:15 PM Page 13 of 17

## Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Replace Transportable Classrooms

Page Last Modified: 07/12/2016

1.	Describe the district's plan to construct, enhance or modernize education facilities to provide high-quality
	instructional space by replacing transportable classrooms.

(No Response)

2.	All plans and specifications for the erection, repair, enlargement or remodeling of school buildings in any public
	school district in the State must be reviewed and approved by the Commissioner. Districts that plan capital
	projects using their Smart Schools Bond Act funds will undergo a Preliminary Review Process by the Office of
	Facilities Planning.

Project Number
(No Response)

Status Date: 07/26/2016 11:04 AM

 For large projects that seek to blend Smart Schools Bond Act dollars with other funds, please note that Smart Schools Bond Act funds can be allocated on a pro rata basis depending on the number of new classrooms built that directly replace transportable classroom units.

If a district seeks to blend Smart Schools Bond Act dollars with other funds describe below what other funds are being used and what portion of the money will be Smart Schools Bond Act funds.

(No Response)

4. If you have made an allocation for Replace Transportable Classrooms, complete this table. Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you entered in the SSIP Overview overall budget.

	Sub-Allocation
Construct New Instructional Space	(No Response)
Enhance/Modernize Existing Instructional Space	(No Response)
Other Costs	(No Response)
Totals:	

5. Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

Select the allowable expenditure	Item to be purchased	Quantity	Cost per Item	Total Cost
type.				
Repeat to add another item under				
each type.				
(No Response)	(No Response)	(No Response)	(No Response)	(No Response)

07/26/2016 03:15 PM Page 14 of 17

### Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

**High-Tech Security Features** 

Page Last Modified: 07/25/2016

1. Describe how you intend to use Smart Schools Bond Act funds to install high-tech security features in school buildings and on school campuses.

The District currently has an aged security network infrastructure and cameras that needs to be upgraded. Ages of cameras range from 5-12 years old. We intend to use our SSBA allocation in the High-Tech Security Features category as to:

Status Date: 07/26/2016 11:04 AM

- Replace security cameras with High-Resolution Digital Cameras.
- Upgrade/Replace Security Cameras Server infrastructure.
- All plans and specifications for the erection, repair, enlargement or remodeling of school buildings in any public school district in the State must be reviewed and approved by the Commissioner. Districts that plan capital projects using their Smart Schools Bond Act funds will undergo a Preliminary Review Process by the Office of Facilities Planning.

Project Number	
50-04-01-06-7-999-BA1	

_							
ว	Was your	nroject	hamaah	alinihla '	for etros	mlinad	Raviaw?
J.	vvas your	project	accilica	Cligible	เบเ อแ ธน	IIIIIIICU	IVEAICAN:

~	Yes

□ No

- 3a. Districts with streamlined projects must certify that they have reviewed all installations with their licensed architect or engineer of record, and provide that person's name and license number. The licensed professional must review the products and proposed method of installation prior to implementation and review the work during and after completion in order to affirm that the work was code-compliant, if requested.
  - 🗵 By checking this box, you certify that the district has reviewed all installations with a licensed architect or engineer of record.
- 4. Include the name and license number of the architect or engineer of record.

Name	License Number
Christopher L. Colby	33581

5. If you have made an allocation for High-Tech Security Features, complete this table.
Note that the calculated Total at the bottom of the table must equal the Total allocation for this category that you entered in the SSIP Overview overall budget.

	Sub-Allocation
Capital-Intensive Security Project (Standard Review)	(No Response)
Electronic Security System	250,519
Entry Control System	(No Response)
Approved Door Hardening Project	(No Response)
Other Costs	(No Response)
Totals:	250,519.00

6. Please detail the type, quantity, per unit cost and total cost of the eligible items under each sub-category.

07/26/2016 03:15 PM Page 15 of 17

# Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Status Date: 07/26/2016 11:04 AM

High-Tech Security Features

Page Last Modified: 07/25/2016

Select the allowable expenditure type. Repeat to add another item under each type.	Item to be purchased	Quantity	Cost per Item	Total Cost
Electronic Security System	Dell R730xd-B 128TB server	1	26,181	26,181
Electronic Security System	Server rails	Server rails 1		125
Electronic Security System	3MP 2.8 or 4 mm fixed lens 0 lux with IR Camera lic Included	108	272	29,376
Electronic Security System	Ceiling Mount for the A-34	108	22	2,376
Electronic Security System	5 MP Exterior camera	36	911	32,796
Electronic Security System	4 Way 360 camera for interior spaces	15	1,729	25,935
Electronic Security System	Exterior 180/360 camera	3	2,260	6,780
Electronic Security System	Wall Mount for the Q3709-PVE	3	93	279
Electronic Security System	Camera licenses	48	184	8,832
Electronic Security System	1500 VA UPS rack mounted	1	893	893
Electronic Security System	Per cable run-installation of (replacement of old) wiring to cameras. We will be using exisiting cable trays, no installation of new cable trays.	160	325	52,000
Electronic Security System	Security System J-Hooks Fasteners etc conduit and backboxes 1 2,500		2,500	2,500
Electronic Security System	CNC Labor-Installation of cameras (replacement of existing cameras and consolidation of multiple single cameras into multi-camera units) and installation of camera server upgrades	1	62,446	62,446

07/26/2016 03:15 PM Page 16 of 17

Smart Schools Investment Plan - Ramapo CSD SSBA Project 16-17

Status Date: 07/26/2016 11:04 AM

Report

07/26/2016 03:15 PM Page 17 of 17